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Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 36 questions.
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attempting it.

15 minute time has been allotted to read this question paper. The question
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The question paper comprises two Sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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(viit) Question numbers 19 to 24 in Section A are five-marks questions. These

(ix)

(x)

31/2

are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

" A
SECTION A

38 guerdE gvft W fgdia ot gty wgw &1 snfvas g3 fafay e yum
HEE T 7 |

Write the molecular formula of the 2°¢ and 3™ member of the
homologous series whose first member is ethene.

Ffwft 7§ s fwu. vl weow (FwE) T8 B | TR RO
T |

Newly formed DNA copies may not be identical at times. Give one reason.

ffafied @@ sj@en #, WY T8 i 500 J S JGH Hd 7 | ST Bl Gai 9
fepert 1l Iuerey Brft ?

qIey 5 E@ s T —»
In the following food chain, plants provide 500 J of energy to rats. How
much energy will be available to hawks from snakes ?

Plants —— Rats —— Snakes —— Hawks

13 fo 20 cm BIHd gl % 3T 8 ¥ 15 cm g0 W @ 8 | oW g =
gfafers & 9r stfagon (yehfd, feufa, onfe) i g=ht s |

An object is placed at a distance of 15 cm from a convex lens of focal
length 20 cm. List four characteristics (nature, position, etc.) of the image
formed by the lens.

fopelt TS W TETEAT 1 WHE I F=i STavEe & ? 39 Gl arehdl i g
TS ST 39 faaw & fowg 2 |

Why is an equitable distribution of resources essential in a society ? List
two forces which are against such distribution.
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B O Sl I TE F BT AIEY ? FAEH o (U TRl
ST/ h! T TTET |

Why must we conserve our forests ? List two factors responsible for
causing deforestation.

3yl TEd ARoft § STadl 3R wgl i g fafan | () fret stad | a8
3R F T8 AR IH W, a0 (ii) forelt T § SR & Fi=l 1 W awi o difcash
arfreteront o fope YR aftad BT B 2 3799 3R shl SRV Afgd gfse hifd |

Write the number of periods and groups in the Modern Periodic Table.
How does the metallic character of elements vary on moving (i) from left
to right in a period, and (ii) down a group ? Give reason to justify your
answer.

Na, Mg 3T Al 3Tgfeh 3Tad Grelt o fel Tad & o & foieh! T8 Tea
HOM: 1,2 3R 137 | 396 & fh8 aw@ hi1 (a) HASTHAT AR, (b) T
e sAfeepam, o (¢) TEES rfufshamsiicar srfusar 8 2 g% & fag
319 I h! HR Aigd e Hif |

Na, Mg and Al are the elements of the grd period of the Modern Periodic
Table having group number 1, 2 and 13 respectively. Which one of these
elements has the (a) highest valency, (b) largest atomic radius,
and (c) maximum chemical reactivity ? Justify your answer stating the
reason for each.

T BT 8 oI

(I Jehtur | TEmfes aefterr off fafaw)

(a) UAMIA 1Y | SIAT & ?

(b) UM I Hig H,SO, % 3feed o 443 K W T feharm St & 2
(¢) TUIHIA ¥ HITSIH H1 HS STAT AT & ?

What happens when
(write chemical equation in each case)

(a) ethanol is burnt in air ?
(b) ethanol is heated with excess conc. stO 4 at 443 K ?

(c) a piece of sodium is dropped into ethanol ?
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vt Stfufshan i s Tt aHteRr i gedr ¥ HIfe | weede
29 o fou fordY fspamerarg =1 v Hifsa |

Explain esterification reaction with the help of a chemical equation.
Describe an activity to show esterification.

Tl Y ISTEWN h! TETIAT § AT hife, foh Al grT 79+ e -ahret §
HiSiq fafdre srgwe wa wewr sl el difedt § demgma w4 7€ & U | 3|
JehR & ALV el I &l Tohd & ?

With the help of two suitable examples, explain why certain experiences

and traits earned by people during their lifetime are not passed on to
their next generations. When can such traits be passed on ?

“Sg-foeprE qun Sl w1 SEffertor WER grfd 8 |17 39 HU9 <l HIr |fgd
gfee shifsr |

“Evolution and classification of organisms are interlinked.” Give reasons

to justify this statement.
S ES(al 1 T A= HEw@qUl A& @ | 38 U o 94 H i HROT G |

Reproduction is one of the most important characteristics of living beings.
Give three reasons in support of the statement.

TEAITT W SR gRT A T Ui <hifT |

Describe reproduction by spores in Rhizopus.

THERU I Tehd & g fompfea & 18 fF depdienl i F= sART | 1 4
HH-H Teh1eh Toul & foTT TE B 2 379 TeheThl b1 U e wehr foheft uftam
o TS R Tylg i €Y wwifea i @ 2

List three techniques that have been developed to prevent pregnancy.
Which one of these techniques is not meant for males ? How does the use
of these techniques have a direct impact on the health and prosperity of a
family ?

fret atfierd o g Tt fome o1 0 o feafia (o) amafass, ok
(b) smaTEt gfafers a1 <9 & forw feptor sm@ Eifew | ¥&@ sm@ ¥ O, F
g 2F i feufaat oft aifera hifs |

Draw ray diagrams to show the formation of three times magnified
(a) real, and (b) virtual image of an object by a converging lens. Mark the
positions of O, F and 2F in each diagram.
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“gad Rt T T8 @ a1 AU g 2 39 Rl faiflge | i % sy g
3ad Yeh1el o fa&qur =) @i & fore fepror s ifem |

What is ‘dispersion of white light’ ? State its cause. Draw a ray diagram

to show the dispersion of white light by a glass prism.

(a)

(b)

(a)

(b)

(a)

(b)

S Ueh A WUl UThfaeh HETEA 7, S Sfad % fow a7 |
319 fos < fees I8 =Ted & foh 319 e Hodrehd fhamehaid o
faw, “umomem wehfas TEE — S H hH = faw W g AeE
ST | A Bl hE F=U & g1 § 34 USH H JMTEhdl 394 i &
fore =h1g 21 3um germsa |

Torelt ueh IUT w1 AW 3R IHhT TRt e e g Wiusd & Rl
R = iR @ Qepr o1 9 |

Water is an elixir of life, a very important natural resource. Your
Science teacher wants you to prepare a plan for a formative
assessment activity, “How to save water, the vital natural
resource”. Write any two ways that you will suggest to bring

awareness in your neighbourhood, on ‘how to save water’.

Name and explain any one way by which the underground water

table does not go down further.

fpregfed g | difed & 31 5 m ¥ 31fYs gt W feom forai &l T

& <@ Ul | 39 3 QW % 399 BH b GWIad HRUN i HE

SATST | feRtor oM@ S TETEdT | S hife {6

() =8 ®F 5 m ¥ As g W fouq forai =1 wwe 1 A& o@
T |

(i) 39 g QI < TMYH o 1T 30 fohE TR o & T ITINT HEAT
RT3 30 AF o ITAN gRT 39 <Y 1 HINe fohd TR Brat
g1

afc, 39 THUT H, HRMYUH 8 hl B gl 1 T&ATCHS TH 5 m 7, dql

Tt ity g IiaTel W TR 39 @i i GHAT [ HIT |
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(a) A student suffering from myopia is not able to see distinctly the
objects placed beyond 5 m. List two possible reasons due to which
this defect of vision may have arisen. With the help of ray
diagrams, explain

(i) why the student is unable to see distinctly the objects placed
beyond 5 m from his eyes.

(i1)  the type of the corrective lens used to restore proper vision
and how this defect is corrected by the use of this lens.

(b)  If, in this case, the numerical value of the focal length of the
corrective lens is 5 m, find the power of the lens as per the new
Cartesian sign convention.

20. fr=fafgd Jeor aiferet w1 fovetwor <hifse, e o ow & feafa 4
foragll (w) % @iy wfdferaght (v) #1 foeror geien w2, i fomn wig

gfehe fopn &t FrifaiRaa et o I @i 5
- ol P

e u (cm) v (cm)
1 - 100 + 25
2 - 60 + 30
3 - 40 + 40
4 -30 + 60
5 - 25 + 100
6 -15 + 120

(a) 3IO@ OE I BIhE Gl FAT & ? I I ! g o foIg HRer i |

(b) 3G Y& hl A G fafgu s wd T8 2 | 7% ey ot fohm Stmem
R fepren 8 2

(c) Torelt 3fu@ UM 1 FAR A TEAT 2 & TN &b faw fROT oM@
difeu | smada =1 ay 94 o 39 HifSe |
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Analyse the following observation table showing variation of
image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

(a)

(b)

(c)

(a)

(b)

(a)

(b)

S No. Object-Distance | Image-Distance

u (cm) v (cm)

1 - 100 + 25

2 - 60 + 30

3 - 40 + 40

4 -30 + 60

5 -25 + 100

6 -15 + 120

What is the focal length of the convex lens ? Give reason to justify
your answer.

Write the serial number of the observation which is not correct. On
what basis have you arrived at this conclusion ?

Select an appropriate scale and draw a ray diagram for the
observation at S.No.2. Also find the approximate value of
magnification.

Ffe forefl adur gru 3ok w feorg forar <1 forell ot fearfa & fom wea
& o, dur it s sfdfsms smar 2, df 5@ odu 1 gfa fafe
3R A7 I I gfee & fofu fomwr e oft Eifew | 39 yehr & gyon
&1 Teh IYINT TARGU T hT IUANT = {1 ST 8, SHH 3@
i |

el gdul <t ashar B i aftumn fafae | fedt e gdu 6
Sehid 3T B gl Fa shitsre, freehl ashar B + 24 em 2 |

If the image formed by a mirror for all positions of the object
placed in front of it is always diminished, erect and virtual, state
the type of the mirror and also draw a ray diagram to justify your
answer. Write one use such mirrors are put to and why.

Define the radius of curvature of spherical mirrors. Find the
nature and focal length of a spherical mirror whose radius of
curvature is + 24 cm.
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Tl h Teh-Ueh ST Soht SUTSId oAeavil TR Tgafsreh @eron & offr fade
i | el =itz g S AR SR § T Ay e e
H A T A8 B ? 38 G2 1 BT G gl TS HIT |

With the help of one example for each, distinguish between the acquired
traits and the inherited traits. Why are the traits/experiences acquired
during the entire lifetime of an individual not inherited in the next

generation ? Explain the reason of this fact with an example.

(a) HFE S S dF o FAEfRad Ices 9m & SR &1 3g@ HINT

() ISR
(i) v
(iii)  ARH S=E

(b) WG HIET H WABET hl HLEAT 3T HHET 1 3gW iU |
(a)  Write the functions of each of the following parts in a human
female reproductive system :
(1) Ovary
(i1))  Uterus
(iii)  Fallopian tube

(b)  Write the structure and functions of placenta in a human female.

FS ARl HI FEGHET T hal Al 8 ? Uoohd, Ueshld TR Uedhlgd ohl
THSIAE AR 1 S g7 e q9n Scs 4vft 6 Jow 9ee 6l g
difew | Ueh &I Uoohd # uftafda o i erfufsen w1 am faflae st
TEEh e g 39 iR % B % fore savess uftfeufadt w1 oft
I |

Why are certain compounds called hydrocarbons ? Write the general

formula for homologous series of alkanes, alkenes and alkynes and also
draw the structure of the first member of each series. Write the name of
the reaction that converts alkenes into alkanes and also write a chemical

equation to show the necessary conditions for the reaction to occur.

9 P.T.O.
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R ILRC]
SECTION B

foret BT 1 IWh! TANTITAT H TN A o [T R I =MfeT AN 3H-99
% o o IucTey TET B | TN § $® @Eu 8, S 3gd I § Hied T 3h
FHSX A 1 Fohd & | AV o Mg dq@ # 8§ 98 998 gHT Sas g
AU Tl AT A H HIed I T IH H3AX T ST ¢ |

(A) Hifeaw FANTgS, qIeREH FAss

(B) d@ifean Gethe, TIfrM dothe

(C) Hifead Hethe, hicHam Tothe

(D) hfcomm Tethe, hicom FdIss

A student requires hard water for an experiment in his laboratory which
is not available in the neighbouring area. In the laboratory there are
some salts, which when dissolved in distilled water can convert it into

hard water. Select from the following groups of salts, a group, each salt of
which when dissolved in distilled water will make it hard.

(A) Sodium chloride, Potassium chloride

(B)  Sodium sulphate, Potassium sulphate

(C)  Sodium sulphate, Calcium sulphate
(D)  Calcium sulphate, Calcium chloride

TTTRToT AT T TR Hd 9T A9 il § I TuH e § fohet
TEF a99fd 9 § NaOH &1 20% Seita faerm fuamd &, @ s Jeqor
g7

(A) oo 1 1 TET 9 A T R

(B) i # A geerEe & w R

(C)  feRt =1 el Ive T B/ TR R

(D)  freRt T TRl I53 e B T B

While studying the saponification reaction, what do you observe when

you mix an equal amount of colourless vegetable oil and 20% aqueous
solution of NaOH in a beaker ?

(A) The colour of the mixture has become dark brown
(B) A brisk effervescence is taking place in the beaker
(C) The outer surface of the beaker has become hot

(D) The outer surface of the beaker has become cold

10
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& AT Teh W@ § Hifedq ATShla-e i U ciehl 30H UHIfh 30 hi
FO ¢ Slod 7, d F=fafed § @ iF-81 e i § 2

I3 srfufshan T& gt

et 7Ty aTett TEF T 1 A gegaree o | fouen
g gegaree & Ty 1 T H 7 H1 form

TIEH MR Tadia A & el 1 s

When you add a few drops of acetic acid to a test-tube containing sodium

(A)
(B)
(®);
(D)

bicarbonate powder, which one of the following is your observation ?

(A)
(B)

(®))
(D)

No reaction takes place

A colourless gas with pungent smell is released with brisk

effervescence

A brown coloured gas is released with brisk effervescence

Formation of bubbles of a colourless and odourless gas

39 ARG § AYqq hivr, fta s 3t fomre v <6l shawn: fores g fasfua

frm B 2
(A y,p,z
B) x,q,z
C) py,z
D) p,zy

11
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Study the following ray diagram :

In this diagram, the angle of incidence, the angle of emergence and the

angle of deviation respectively have been represented by

(A)
(B)
©
(D)

Yy, P, 2z
X,q, Z
b, Yy, Z
p,zYy

HIE BE AT HEYHYES AT HI0 (£ i) & i aF & faw &= &
e | I areft Yoy fRtor w1 u SRfRad T 3 | f 98 STadd i %
T HH % TIU T9ac i1 (£ r) 3R f37d 101 (£ e) & Td AT I ATaT
& | 39 10N <l ATHT T FIveryor stk 38 1 fsehd feprern =fe 2

(A)
(B)
(®)
(D)

LizLrpLe
Li=Ze>Zr
Zi<Zr<Ze
Li=Le<Lr

A student very cautiously traces the path of a ray through a glass slab for
different values of the angle of incidence (£ i). He then measures the
corresponding values of the angle of refraction (£ r) and the angle of
emergence (£ e) for every value of the angle of incidence. On analysing

these measurements of angles, his conclusion would be

(A)
(B)
(®);
(D)

Zid> ZrPs Le
Li=lessr
Zi<Zr<Ze
Li=Ze<Zr
12
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fau U feptur @l 1 st e iR fefaied 9 8 @& %o g

(B)

(®))

(D)

I X 31aaat gdur 8 3R IRE Y 39« o g, ﬁqﬁqﬁaﬁa?ﬁmm:
20 cm 3R 25 cm # |
gfrd X 3T 8 @ 3R Ffth Y 31aqa gul &, Seh! Hishd AT shust:
10 cm 3 25 cm 8 |
iR X feaddl oF 8 3R Ik Y 3T qUu &, TSeh! ®iehd gt shas:
20cm3ﬁ'{25cmél

Ifr X 3T @iF @ 3R Ik Y aaa quul 7, el wiehd gt shaw:
20 cm 3R 25 cm # |

Study the given ray diagrams and select the correct statement from the

following :
¥
X
<90 em T— Screen
«—25cm—>
(A) Device X is a concave mirror and device Y is a convex lens, whose
focal lengths are 20 cm and 25 cm respectively.
(B) Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 10 cm and 25 cm respectively.
(C) Device X is a concave lens and device Y is a convex mirror, whose
focal lengths are 20 cm and 25 cm respectively.
(D) Device X is a convex lens and device Y is a concave mirror, whose

focal lengths are 20 cm and 25 cm respectively.

13 P.T.O.
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g BE Iad o g TepHT gree fovar o1 e wldafers og W e Lt 2 |
TG T TR Fidfers ITed A o o W gO1 i Ragepen gim

A) T

(B) WG I IR

(C) feret et feufa o ot e & it T B

(D) 1 g T IR AT I § g, I8 o Ay el w fnf e 2

A student obtains a blurred image of a distant object on a screen using a
convex lens. To obtain a distinct image on the screen he should move the
lens

(A) away from the screen
(B)  towards the screen
(C)  to a position very far away from the screen

(D) either towards or away from the screen depending upon the
position of the object

N R e
9! g Tgefiorsh st =nfey | Freferfaa aqg # @ fesforesh s g

g, =1, HeRhl, WeX, ST, HTha
(A) g, T R AKX
(B) =T, HeX 3 HiTohedt
(C)  wFRI, HE IR S
(D) =T, HerehT 3T HiTohedt
To perform an experiment to identify the different parts of an embryo of a

dicot seed, first of all you require a dicot seed. Select dicot seeds from the
following group :

Wheat, Gram, Maize, Pea, Barley, Ground-nut

(A) Wheat, Gram and Pea
(B) Gram, Pea and Ground-nut
(C) Maize, Pea and Barley

(D) Gram, Maize and Ground-nut

14
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3T, THTEL, Tell, ST, TSR, Sieh!
T | HH-H g gfeal Tus arEATei &1 gal 9o e | 2 1
(A) TSR 3R THTR
(B) 3T 3R &
(C) Wit 3R TR
(D) et 3R LRl

The following vegetables are kept in a basket :

Potato, Tomato, Radish, Brinjal, Carrot, Bottle-gourd

Which two of these vegetables correctly represent the homologous
structures ?

(A)
(B)
(®)
(D)

Carrot and Tomato
Potato and Brinjal
Radish and Carrot
Radish and Bottle-gourd

13 B 10 cm B G o ITA A8 B TN Hleh 8 H AW 2 m g W
T Amed I ST B W W BIHAd HAl 7 | 3k ITETd 98 SaTal ol
- o9 i 3T Rggehrar 8 3 & IR 356 Jfdfera &l Wg W Bihiad
HT 2 | 2

(A)

(B)
(®)

(D)

T W SATAT bl BIhild hd & U 38 g =1 form feem 4 Ragermn
BT ?

WS W S ATl o Tldfewsl o TTg9 H T 1= 3T 8 ?
TR T S SaTe % Sfdters 1 digar (IHe) § w0 =R fowtd o 8 2

S SaTell A" % §gd 9 (T 5 em gt W) B B, @ W W
femré 2 2 2
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A student focuses the image of a candle flame, placed at about 2 m from a
convex lens of focal length 10 cm, on a screen. After that he moves
gradually the flame towards the lens and each time focuses its image on
the screen.

(A) In which direction does he move the lens to focus the flame on the
screen ?

(B) What happens to the size of the image of the flame formed on the
screen ?

(C)  What difference is seen in the intensity (brightness) of the image of
the flame on the screen ?

(D) What is seen on the screen when the flame is very close (at about
5 c¢m) to the lens ?
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Mention the essential material (chemicals) to prepare soap in the
laboratory. Describe in brief the test of determining the nature
(acidic/alkaline) of the reaction mixture of saponification reaction.
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Draw in sequence (showing the four stages), the process of binary fission
in Amoeba.

16

Schedule a Tutoring Session today!

Call Now: 91729 66488 &)

wWww . premacademy . com




